" TRen. <JFJ> . {mﬁgzx]---zméﬁu 0l A
Ewm'@m”> PLHABHDEZHER ( ’

[JUA) B2 =1/319.68 (1/99.9) FEZ = #)[E] 100.0% - #4465 100.0% (ST=154) EHHR = STH /150 @ (FAMEIEK) Ik =1218522&10&15
[H5 L] - 32 A=800[EIER;HLEF - B¥lE=1.214[El4z

WBIEY AT - -7 AST/ WS A L
WE R R LR - 2L

W R AT — - - -4
W (R - BT = — e L
W5 FEE- Y
PN DEEE W
WEHE---HTE

<THYHA—tREE>

[UuA] ( E15{& /10C)

(F10{& /10C)

o + F4R---- 360f&
d \ * £10R---1,4001E

WEE A OER
<AKR_=TH# >

. oy 't. ~ o
[(E#ESIaL—2av] &

HOBFIF, HBREERLFET. (] [bual)

OZFIAE, [EAMER] CRYES, [BEAEM] TOEREECET, Presented by TKC (HRSH b1« )0 - afdiagrX)




